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Al 15,577,433,380 1,991,319,672 3,490, 144,012 1,498,824,340 17,568,753,052
stls 2,051,606,282 374,468,572 421,468,572 47,000,000 2,426,074,854
HdgdII= 1,129,408, 282 17,888,020 47,888,020 30,000,000 1,147,296,302
ce=Xdls 828,749,736 13,953,480 38,953,480 25,000,000 842,703,216
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FUASTE & HEHHIIS 1,979,352,932 132,845,890 132,845,890 2,112,198,822
Esti=dE0I= 300,000,000 534,855,060 534,855,060 834,855,060
SRR R = 1,680,979,827 385,535,469 445,475,469 59,940,000 2,066,515,296
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HIIZXM2AEEXNsd & FEANSSUH 2SS IIS 223,662,530 290, 140,570 308,768, 180 18,627,610 513,803,100
sxgsdlls 2,160,006,917 71,341,523 174,855,873 103,514,350 2,231,348,440
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